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I} General Awaraness

1. India ts a land of meny beautifuf
ancient temples. Which ona among
the following tempes displays the most

- Bxtensive ang sumptuous rock-cut
shrines and is the mpst marvallous
architectural freak in nelia 2
(A} The Kalash Tempie at Ellora
(B) The Rath Temple at

Mamallapuram

(C} Tha Chaturbhuja-Vishnu Templa

at Khajuraha
(D) The Kaliash Temple af Kanchi

2. Whaols the current Chlef Justice of the
Supreme Court of Indig 7

(A) Aftab Alam

(B} Altamus Kablr
{C} P. Sathasivam
(D) G.S. Singhyi

2. Which of the following is the fastival
dance of the pecpls of Assam 7
(A) Garba '
(8) Bhangra
{C} Bihu
(B} Kathak

4. Prathibha Ray, who was pamed for
Jranpith award is a farnous
writar,
(A) Bengali
(B) Odia
(C} Hindi
(D} English

3. Thecontinental sheif surrounding ihe

Indfan coast is widast off the
(A)  Heoaly coast

(B) Coromandel coast

{C} Konkan coast

(D} South Guarat coast

Rainfall on the a0t coast of Tamil Nary
SECUrs during October to Novembar
due to

(AY  Winter mensoor

{B) Retrpating South-Wast monsoon
{C)  North-West monzoon

D) Local winds

Name the Indian who was asadciated
with the discovery of Mohanjodars.
(A} A.D. Banerfee

(B} R.D.Chatlerjee

(C) wW.C, Banarjes

(D) &, M. Banerjes

Humayun's Tomb was byt by
{A)  Bu Hatima

(BY Mur Jahan

C)  Hajl Begum

(D) Akbar

Whare was 161 N.A M. Summi: held 7
(A} Irag

(B} Poland

(C} Egypt

(D) Tehran
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Incian constitution is

{A) Rigid

{B} Flexible

(C) Parly Rigid and Partly Flexible
(D) MNeither Rigid nor Flexible

10.

Which is the richest termple in India 7

(A} Balaji Temple of Tirupathi

(B) Shirdi Sai Baba Temple

(C) Padmanabha Swamy of
Thinananthapuram

(D) Jagannatha Templa of Puri

Which Indian state has the highest
IReracy rate ?

(A) Karala
(Cy Mizoram

(B} Tarmil Nadu
{0} Lakshadweep

Who is our current External Affairs
Ministar ?

(A} S.M. Krishna

(B) A. K. Antony

2] Salman Kurshid

{0} P. Chidambaram

Bronze ks an alloy-of

{A) Copper and Zinc

{B) Copper, Zinc and Tin
) Copper and Tin

(D) HNone of these

India's space Rocket Launching
centraisin__

{A) Hassan

{B}  Port Blair

(&) Vishakhapatnam
(D} Sriharikots

AR
The Asian Games are organized after
avary
(&) 3years (B) 4 years
(C) 5years (D) 6yoars

. Davis Cup is assoclatedwith -

{(4) Football
(B} Hockay
([} Tennis
(D} Cricket

Which Article of the Indlan constitution
gives special status to the state of
Jarmmu and Kashmir 7

(&)  Article 3685
(B) Aricla 370
(C) Aricle 271
(DY  Article 356

During which Five Year Plan was the
gmergenty clamped, naw slection
ook place and the Janatha Party was
glectad ?

(&) Third

(B} Fourth

{C)  Fiith

{D} Sixth

Who among the following was a
conternporary of Gautham Buddha 7

(Al Magarjuna
(B] Kanishka
(C) Kautilya

)

(B} Mahavir
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21.

22

24

25.

‘Kathak' is related to “Uttar Pradssh
in the same way as ‘Oddisy’ is
relatad to
{A) Assam
(C) Onssa

(B) Gujarat
{0} Maharashira

In a code CORNER is writtan as
GSVRIV, How can CENTRAL bo
written in that code ?
(A) GNFJKER
(C) GIRXVEP

(B) DFOUSBM
{D} GJRYVEP

Which of the following is equivalent
of Canada, Chils and Germany ?
(A) Oftava {8) Parig
() Chicago {D} Singapore

Ifin & glven number 5884327614 wa
interchanga the first and the second
digits, the third and the fourth, the fifth
and the sixth and so on, then caunting
from the right end, which digit will ba
sixth 7
{Ay 3
G 4

(B) 2
o) &

If yellow is ealled blua, biue is callad
white, white is called green, green Is
callad brown, and brown is called red.
what is the colour of milk 7

(A) White
(B} Blue
(C) Gresn
(O} Red

B .

:,.n-

N A ™

il} General Intelligence and Reasoning Ability

Directlans {26 — 27) : In sach guestion
below are given two statements followsd
by four concluslons 1, 11, 11} and V. You have
ta take the two given statements to be trug
evan if they seem to be at vardance fom
commoniy known facts. Read all the
conclusions and then decids which of the
conclusions logically follows from the two
given statements, disrsgarding commonhy
krvown facts,

26, Stataments . Some panots are
monkeys. Bome jackals are parrots.

Cenclusions: |) Some parrots are
jackals,
Il} Some jackals are
parois,
I} =Zome fackals are
menkeys.
V] Some monkeys
are pamots,
(A Al Rllow
(B} Cniy l and 1N follow
(G} Onky Il and 1Y follow
(0) Only | and ll follow

27, Statements : No frult is tree, Al
Irpes are stones.
Conclusions: 1) Nastone is fruil,

I} Mo tres is frud,

W} Some stones are

trees.

IV} Some stenes ara

frusita,

(A} Oniy Il or 11l follows

(B) Onily i orlll follows

(C) Only Nl follows

(D} None of these
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28

2tk

Mow many numhbers amongst the
rumbers 7 to 41 are thera which ars
exactly divisitle by 9 but nog by 37
(A)  Mil (B 1

() 2 Oy 3

Five bays are so standing that they
form a circlg facing the centre, Ajay is
between Ramesh and Dominic.
Sclomon is to the lsit of Babu, Ramash
Is 10 the left of Solarmon. Whois o the
right of Ajoy 7 '

(A} Baby (B)
(C} Dominic ()

Ramesh
Saloman

Directicns (30 - 31} Four of the followirg
are &like in & certain way and so form a
greup. Which s tha ong that dees npt

belong to the group ¥
30 {A) Pant {B) Shin
(%) Uniform i Tie
31 (A} Laciomater {B) Voltmeter
(G} Thermameier (0]  Diameter
32, It +' means = meang st A
means -, and '+’ means =", then
23+ 8-421244=7
(Al 12 By 17
{C} 7 D 17
33. Sudha iz taller than Pushpa but

shorter than Malathi, Geetha ig
shorter than Vijy an Viju is nat as
‘all a2 Pushpa. Who should ba i
the middlia if trrey stand in a row
according to height 2
(A} Sudha (B)
(C}  Malathi

Pushpa
Y Geetha

ARSI M

J4.  In & certain code, a number 134759 iz

written as AQFJL 8nd S268 is writtan
as DMPMN, How |5 358824 writtan in

that coda 2
{A) GLPMNMJ {B) QLPMNF
{C) QLPNDE i GLF’NMF_

33 Magazing is related tg Editor in the
vama way as Movie is related (o
Al Director (B} Producer
(S} Actor (D) Photographer

Directions (36 —~3B) : A cube |s coloured
o all faces. It i cut ints 84 smaller cybes

of equal size, Now angwer the questiong
gren balow,

38, How many cubes have two black
Opposite fages 7

[A} © {8y &
(CY 18 D) 24
47.  How many cubes arg not covourad on
any face 7
(Al 0 B] B
[Cy 18 (D) 24
38, How many cubes are coloureg on
three facgs 7
(A} 4 E) 8
(C) 18 (D 24

39 How many times does e digit 2 nosur
I wrlting 2001 to 2030 7
(A} 13 {8y 23
(C) az 0y 4a

40. In & certain cods language “1, 2, '
Means ‘baght little boy *1, 4, 5" means
‘tall big boy' and ‘6, 3, 7' meansg
Beautiful litthe flower, Which numaral
in that language maans ‘bright” 7
(A} 2 (B) 4

() 8

(L) 5
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ill) Arithmatical and Numerical Abflity

40% of 180 + 20% of 150 =7 % of 340
(4] 170 B) 60
(e an (O) 20

98xBE-2x2
A8 =2 '

(A) 98

B 1060

€ 102

D) 80

When the price of TV sat was
increased by 30%, the number of TV
sots sold decreassd by 20%. What
was the effect on the sales 7

(A) 8% decreass
(B} 8% incroase
{C) 4% decreasa
{0} 4% increass

18 workers by working & hours par
day take 26 days to completa a Job,
13 workers by working 8 hours pear
day take how many days lo complate
the sarme job 7

(AY 24 days

{8} 20days

(G} 28 days

{0) 25days

Jagmaohan, Rupalal and Pandeji hire a
video sel for a week for T 350, If thay
used it for a total of 8 hours,
10 hours and 12 hours respectively, how
much of the rental should Pandaeji pay 7

{A) ¥75
(B) 150
{C) % 125
(D} 7 100

46,

47,

48,

a0,

B1.

Each passengar in a transport bus
cantributed as many rupess as the
number of passengers in the bus
tawards accident relisf fund. The

conducior contributed Rs. 49 to make

the total collection of T 625, How many
passengers ware there in the bus ?
(Ap 7 (B) 20

(C) 24 iy 25

The interast on a certain deposit at
2% per annum is ¥ 405 in one year,
How much will the additional intarest
in one year ba on the same deposit
at 10% pear annum ?

(A} T 4080 {B) ¥ 450
(C) F 855 (D) 7 45

Afan was sold at 2% ios=s. Ifthe same
was soid for T 70 more, there would
have been 5% profiL Whal was iis
cost price ?

{A) T 580 (B) % 1,000
(C) ¥ 700 (D) T 80Q
By haw much s two thirds of 48 lesser
than three fourths of 96 7

{Ay 50 (B} 40

(Ch) 8D (D) 48

Kamala got mamed slx years ago and

her presant age is 1% titres har age
atthe time of her manfaga. Age of her
50N is 10% of her present age. What
15 her son's age 7
(A) 3vyears
(G} 2years

B} 4vyears
{D} 5years
How many diagonals can be drawn
in & decagon 7
[A) 55
{C) 35

{B) 45
(D} 25

e I | _,"!_:l
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S2. A person travels from P to O at a
spead of 20 kmvhour and returns from
G to P at a speed of 30 kevhowr. Find
the average spead of his total journay,
(A) 25 kmmour
B} 24 knmvhour
(€] 28 krmvhiour
(DY 23 kmfhour

3. P.Q=5:8R:Q=3:2findP:R
(A) 5:4 (B) 5:8
(C} 5:8 Dy 5:8

54. The base and the height of &
cylindrical vessel and a conical
vessal ara the same. How many times
full of liguid i= fo be pourad from the
comcal vessel to completsly fill the
eylindrical veszel with liguid 7

{a) 4 (B] S5

(©) 3 o 21

55. A company declares 10% dividend,
Its € 100 share iz =old at a premium
of ¥ 24, Brokerage fs 1%. If a persan
imvasts T 25 000 in this share, how
much annual dividend does he get 7
(A} T 2,000
{B) 7200
(Gl 72400
(D} * 2,500

57.

58,

=8,

B0,

T BT

Three circlas with radli 3.cm, 4 cm and
3 cm touch each ather sxternally. If
their centres are P, Q and R, what |3

the perimater of the tangle PQR ?
(A} 12cm (B} 1Bcm
{C} 24cm {0} 36cm

The ratio of the volumss of two
spheras is B : 125, What the ratio of
their diametear 7

(A) 4:625
(T} 514

(B) 2:31.3
0} 2:5

The average age of 10 students in a
class increases by 4.8 months when
& boy of age & years is replaced by a
new boy. What is the age of the new
boy 7

{A) B yoars

{C} 11 years

(B) 10 years
(D) Bvears

2?5 =%. Find the nuember which

replacas the sign '
(A} 70 (B) &0
{C] 75 (D} B5

Simple interest and sompound
interest for a certain sum of money s
T 800 and T 648 respoctivaly for two
years. What is the rate of interast 7

(A} 10%
B) 9%
(C) 16%
(0} 9.5%
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v} Test of Language : Hindi
| ITHT wET ; T
1 BY. TS vl B4. TF % vt % Ay
/ : o _._‘{;ﬂ} T : '_ .'.1 .im T |
(B) =i . W
(C) WEg
(C; =™ o
D) TR '
A 85. ‘SeeETT T = aved
62, WA S T AT SIRET A
- (B) T FTm
(C) =amafem
() Tt faferary
(D) Fg e
(B) = wm=w
B68. e T ¥ g Bm wg
(©) e a8
=g g@a § Gz : e
B3, LC kol Lo I (e 7ol D) Szt
et :
87, : |
@) wm ERENE__ =aE
(a) Hafag
o S @ weamha
0 S © tiem © "I
| (D) et D) e
A 18-

o1



_—

0N T O JOD-1/TEIX-14
68. TNy ETEw Y 72, o=l it § e oef
(A) T
(B) . T i
(C) T b m
(0) Tpema o A
0 s |

69. W= qVEET H1 AR .
73, Teierias st d smamwfa g

(A) T
(B) F= (A) HEET
(C) Pt (B) T
(D) et (C) wmem
D) T
70, SE® A 1 uraTE w1 AW i
(A) T 74. FEAYE WA QRS ol
(B) T (A) e
©) YR (B) =TETE
(D) S i
(D) e
71. dmEgRuMeT oy
75.
- o forgrd Y et am
(A} T
(B) wErEniE
. (B) =T
(C) H=g middy
(C) Hwed
(D) meafEaaih (D) e
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v} Testof Language : English
sy e - Rl

Directlona (81 — 84) : Carelully read the
passage given below and answer the
guestions given below the passage :

Rainfed areas consist of 70 parcant of the
cultivated land in India and around 84
percent of the cultivatad area in the world.
Such areas have been known for their low
praductivity, but things are looking up with
the Introduetlon of improved technology. It
ia now possible to double farm production
in the rainfed areas f adequate care s
bestowed on soil and water conservation,
water harvesting, adoptlon of appropriate
cropping sequences and practices and
training of extenslon workers and farmers,
giving them all insttutional support such as

inputs, loans and marketing facilities,

Rainfad areas, whets faming is undertakan,
include and and ssml arld lands and wot
lands. Araas with rainfall upto 50D mm,
where llvestock can be raised, grasses and
foddar trees can be grown and dry land
harticulture can be praclised are also called
rainfed areas, Most of the rainfed arsas are
inhabited by very poor farmers and
marginal labourers, who need training in
sail and water consarvatkon, harvesting of

run-off watar, atc.

A

Ta make farming remuJneratne and
commercially viable for them, diversiication
in farming has to be promoted. Fammers nesd
support from the government in the inftlal
stages with, g2y al0an, on along-tam basls,
to create or develop assets. Co-oparative
societies must be promuoted and strangthenerd
for giving the famers inputs and halping
them market their produce.

Fill in the blank choosing the right
aternative :

81. Farm praduction In the rainfed areas
can be doubied if
{A&) cara |z not taken on aoil
conservation

(B! carelsconferred on water
consarvation

(C) waler harvasting is not taken
care of

(D] extension workers are not tralned

properly

82 Rainfed areas include
(A areas with rainfall upte 5C cm

{B) areas where grasses cannot be

grown

{C1 areas where dryland horficuliure

cannot be practised

{D} areas in which very poor farmears

do not raside
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B3. Marginallabourers residing in rainfed
areas do not requira training In
(A) run-offwater harvesting
{B} preservation of soll from loss

~ {C) praservation of water from waste
(D) raising livestock only for flash

84 Govemment need to support farmers
with
(A) shor term loans
{B} long term loans
{C) loans to destroy assets

(D) deposits in co-operative accketies

Directions {85 — B%) : In each of tha
following sentences a biank has boen
given. From amongst the four altematives
given under it, you have to find the one
which beat fits into the blank. That is your
Erswiar,

BS. Will your
| am an tour ?

rry dog while

(A) look on
(B} look after
(C} look up
D) look aut

85. | object waiting, You
are always late for appointments,
(A) tokeep
(B} to keaeping
(C) tobeing kept
(D) to

L AL
B7. 1 did _ | could which was
not much.
(A) what
(B) which
{C} that ;

{Iy how much

88, | have livad in Dalhi _
(A) tor five years
(B) since five yoars
(G} five vears ago
{0y forfive years ago

B5. Mo sconer did he go in
he came out,
(A} and
(B) then
(Cy than
(D} when

Directlons (90 — 93) : Find out whether
thers iz any grammatical srrar. The arrar If
any will be in one of tha parts (A), (B) or {C)
as marked in the sentence. If there is no
SITOr, your answer s (D),

90, Myself and Gopaian (A) / will take care
of (B) / the function on Sunday (C) /
Mo error (D)

91. May!{A)/f kr;uw who you want (B) / to
see please .f{.‘:}f Mo arrar (D)
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92 Agroup of fiends (A) / wanttavisit (B) /
the new plant as early as posshie (C)/
Mo error (D)

83. On a holiday {A) / Sudha prafers
reading {E) / than going out visiting
friends [C} / No error (D)

Directions (94 - 95} : Of the four
altemnatives given in each question, find the
one which is most opposite In meaning to
the ward glven in capitals.

24, CONCEDE
() object
(B} acreds
(C) grant
D) refuse

85. MALIGN
(A) praise
(B) purify
(G} disparage
{D} rapress

Directions (96 - 97) : Choasa the word ar
phrase which |s most nearly the same In
meaning to the key ward.

96. Trivial
{A) momentous
(B} frivolous
{C) important
(D) truss

“21-
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897. Magnanimous
(Al luxurious
(B] generous
{Z)  low-minded

{0} vindictiveness

Directions (98 - 100) : Select the most
appropnate word from the four words given
below the sentence to fill in the blank in it
and complete Its meaning,

98. Whenlcalled .~ his residence
this-morming, he was siill In bed.
fA} in
fB] on
{C) at
(D} for

8% Thepoetdedinthe
fife,
(A) peak
(B) end
{C} .youth
(D) prima

of his

100, The diractor S
his misbahaviour.

(A took
(B} kept
(C] made
Dy forcad

him o task for

!
|
:
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SECTION-38
Post Spacific Subject-Related Questlons
11, Dominant method’s for measurlng 1066, .. 'saming, which results in

brain activities are students’ acquisition of spontangous
() ERPs By MR concepts, and ___ . leaming, wiich
iC) MEG D) All of the above results in their acquisition of scientific
concepts.
102, What is tha meaning of MRl 7 (&) Theoretical, Empirical
{A} Track changes in blood fliow in the (B} Practical, Thaoretical
brain (C} Empirical, Theoratical
(B} Track magnetic field changes in (O} Mone of the above
the brain over the time
{G} BethAand B 107, The mole of the human mediator |5
{0} None of the above definad in Vygotsky's (1878) theory
thraugh notion that
103, Learning 0 infancy prior to Neural (A} Each psychological funclion
Commitrment appears twice in davelopment,
{A} Nauroplasticity once in the form of actual
{B} Leaming in aduithood interaction betwaen peopla and
(C} infant learning the second time as an inner
(D% None of the above internalized form of this funclion
(B} Transition of the function from the
104. Scribner and Cole ldentifled interpersonal to the intrapersonal
distinctlive features of informal plane rather than the property of
lsamning, those are maditation
i Infommalleaming is person-srisnted, {C) Effective spontaneous meditation
iy Informal learning {ostars among teachars
tradiicnalism. (B Al of the above
Hj. Intomngd lagig Imcles fus.llng 108, Which of the follewing strategies are
Emﬂmr_w and 1““?‘:?"51 dnﬂ“'“s' proposed by Eulligs ta d%vaiﬂp
(A} 1and i (B) i, i and i learners’ cognitive skills 7
(C) Handil (D) Only i (A). Modeliing, Coaching, Scaffolding
105.  InJuly 1996, the Education Commission fg] ety Seafiowingy sutiaation
of the States and the Dana Foundalion {C]  Articutation, reflection, exploration
e : D) BothAand C
held a conference entitled “Bridging the '
gap between _ and education,” | 108, OQur memory of personal experiences
convening leaders fram tha twa fields. s called
(A) neuroscience R (A} Procedural memory
(B) interdisciplinary sglence (B) Samantic memaony
(C)  discipiinary scisnce ()  Lengterm memeory
(D7 none of the abovk (D} Episodic memory
A 2.
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110.

111,

112

113,

114, According to the Pringle, basic needs
of children are

{A) The need for love and Securily
(B} New experioncas and responsibility
(C) Praise and recognition

{D) Al of the above

i& the ability to recall how to do
something, especially 5 Pysical task,
(A)  Episodic memory
(B} Procedural memory
{C} Semantic memory
D) All of the above

Who believes that Itis never toa aarly
or too late to offer a helping hand -
and to give the mogt disadvantaged
youngsters the chance of & better
childhood and a brighter future 2

(A} John Donaldson (B) Bamado
(C} James (G} Prout

James and Prout propose that the
——____izabiclogical fact of life, but
the ways in which it is understood andg
made meaningful is a fact of
(A} Childhood development,

Socialization
{8 Sodal construction, Soclalization
(C}  Immaturity of Childhood, Cutture
(¥ Childhood development, Cullurs

Key featuras of the paradigm, as
outlined by James and Prout are
i} Children is understood ag & sosial

construchion.
i) Chidhood Is @ variable of sacial
analysis.
i} Childhood developed the sociaty's
culture.
¥} Children should be ssen as active
s0cial agent.
{Ay i W, di (BY 1, iil, iv
{C)} L b (D) Allofthe above

T1F.

118,

115, Bpecific dutiss of SCCs are provided in

115,

VR LA

{A} The Education Act, 1895
(sectian 149.5)

(B} The Education Hequlations,
19886 (zection 3,82)

(C) Both AandB

(D} MNone of the abave

Act and regulations require SCCs ta
I Faclliitate parant and Community
participation in schog learming

i) Devalop & good understanding of
. Wheir community :
it} Comply with The Education Act,
1895, The Education Regulation,

1886 and the policies of Its board

of education :

v} Comply with The Educatfon
Regulations, 1986 (section 3.82)

v) Development of schoo! staff
(A} i, liand iif B} 1, iiandiv
(C) Liiand v (D) ANl ofthe above

In general Board of Education ig

responsible to

{A} Establizshing a SCC in avery
school in its division

{B) Provide orientation, training,

~ development and natworking
opportunities for alf 3CC

(C) Facilitate parent and COmmurity
participation In schoo! leaming

(D) Both AandB

Which are the following main slemenis

prewide the framewark for socialization 2

A} Human biolegical potential,
culture and indlvid ual exparisnces

(B} Human nature, culture ang
behaviour

{C} Secial awarenass, culture and
behaviour

10} Human nature, Human biologleal
petential and culture :
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114,

120.

122,

123,

124,

Creche, Home for stresl children,
sponsonng Education, Distribution of
Educational Matenal o poor students,
sponsor Education — school and
tuition fees and Orphanage are the
difierent programs that are running by
(A4) CW (By DCCW

{C] Seuds (0} Maneof tha above

The formation of specific fnendships begins
io be obsenved during which period 7

(Al 16 o 28 months

(8] 18 36 months

{C) 1410 25 months

{3 810 15 months

Wheo had observed that the art of
education would never attain cleamess
in teelf without philesapby 7
tA) MK Gandhi (B) Fichte
{C) John Dewey (D) Gautam Buddha

How do we get knowledge and how
canwe be sura it is frus and not ernor 7
This arsa of philoscphy s called

(A} MNeurology

(B) Epistemology

{C} Bayond Philosophy
{2}  MNone of the above

In today's society school should give
fA} Omamental base

B} Vocational base

(G} Both Aand B

(0} MNone of the above

What are the attributes of an effective
learner 7

(A} Self directed

iB) Cunous and open mindad

(C) Seff aware

(0} All of the above

125,

126.

127.

§~|II}IIIIIHIIHIIH!III!HEJ_!IIIJ ]

The 1968 national policy teacher,

educalion adopted by the Indian

Government laid stress on the

followlng aspects of teachar's

elucation

(A} Adeguata emaluments and
acadermic freedom for teachers

(B} Travel allowance and family
pensions for teachers

(G} In-zervice training and
correspondenca education for
leachers

{D} Premotion and retirement facilities
for teachers

If we believe in the dualistle thaory of

the mind versus body nature of man,

have to arrive at the consaguence that

{4} Educatian is mechanization in
process and theorstical in
development

(B} Learning i purgly a matter of
material changes in the behaviour
of man

(C) Learning an education shoulkd cater
to observable behaviour of man

(D} Education is purely a matier of

© mental training and development
of the =elf

Article 45 undar the Diragtive

Principles of State Policy in the Indian

Constitution, provides for

{A) Rights of minarities to establish
aeducational instituticns

(B) Free and compulsory primary
aducation

{C) Education for waaker seclions of
the country

(D7 Giving financial assistance to less
advanced states
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130.
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128. The National Educaticnal Policy of

1979, recommended also about the

public schools

(A} their unigueness and traditions
have to preserved the intarests of

the best talants of the country 132,

{B) theyshould be brought under laws
and regulations of the govemment
public education system

(C) they must be allowed the
autonomy that was bestowed on
them by the past system of
education

{D} suitabls ratic has to ba maintained
for admission of middle class and

poor student alsa 133,

The concept of totalitarlan education

in the West was in favour of

(A} Treating education as a binding
factor o international
undersianding

{(8) The education of the individual for
developmant of his fotal persanality

(C) Making the education of the
individual as an instrument far
realising the ends of the state

(D) Making the state responsible to
evolva aducaiion as a means of

salisfying individual's needs ancd
intergsis

Ragarding co-education at the
secondary stage, the 1952.53
Education Commission has
suggested that

{A} Tostart, resource, inseveral states | 134

could not afford

{B} There should be objection to
axtend co-sducaticnal schoo!

{Cy To maintain separate schools for
boys and givls

(D} The situation in our country
warrants astablishment of more
boys schools than co-aducational
school

24

131,

(0 Tha characteristics of the stude

[ TR

Intellectual aim in educatlon was
amphagtsed in

{A) India {B] Greek
(C) Sparia {0}  Athanian

What s the most commoan appraach
ic the esiimation of school
effactivenass for initial betwaen-
schoo! differencas 7

(A) Mainces

(B) Between-Grade aporoach
(C) Statistical Control

{0} HNone of the above

The belween-grade design is
preferabla from a methodologlcal
point of view because
(&) Batween-grade differances |
amount of schoellng are no
related to differances in otha
achievement related varlable
(B) Effectiveness estimates yielded b
statistical contro! approach egue
to zero
(Z) B0 approach makes use of th
SOcip-aconomic characteristhes o
the school population in ordar
astimate expectad achisvernant

body remain consiant; they do no
affect the achlevement gain of the
cohorts

Ryan, a five-year-old child, iz able to
idantify tha lattar “r." Ha is also very
familiar with the letters *y," “a " and "n."
Thig phenomeanon is referred 1o as the -
(A) Alphabet knowledge processor
(B} Own-name advantage

{C)  Fhonologkcal awarensss indicat
(D)  Emargent Iteracy hypethasis
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135. A child is abls o sagment the ward
"CAT" imta its constituent phonames,
A+ A + T/, He is demonstrating a
deep level of

(A) Phenological awarensss
(B} Print function

(2 Deletion

(D) Mone of the above

o |ldentify

o plan instruction for the school year.

(A} The Preschool Language 3cakeg-—

Fourth Editicn (PLS—4)

(B} Edition (CELF—Preschocl=2)
Test of Early Beading Ability—

: Third Edition (TERA=3)

| (L
Screening—Prel (PALS-Prak)

i (D}

137. Children learn appropriate sounds
i, and words in reaction to their parents’
reinforcament Is suggested Sy which
! theory of language development 7

i {A} Behavicurist (B Innatist
' (2} Cognitive

'I 138. Children ara born with & lAnguags
._| e acquisition device
sy {A) Skinner
3 (B) Piaget
E {C) Vygotsky
/ - {0) Moneofthe above

R

Jscreening instrument which
can use by earty childhood educators
the strengths and
waaknesses of childran in earky literacy

Fhanological Awarenass Literacy

Clinical Evaluatian of Language
Fundamentals Preschool—Sacand

(DY Contexiual

138.

1440,

141,

142,

143.

IIHIIIIHHHIHIIIIIIIIEFW'

Childran's first words most commerily
rafar to which of the lollowing ?

{&) abstractideas

{B) concrete chjects

(C) time

(D) all of the above

_IsNOT play a significant role

in the child's learning of language.

(A} learning rules for sound
combinations

(B) learning rules for interaction
patterns

{e) imitation of adulf spaech

(Y learning rules for sentance
struclure

Metalinguistic awarengss

(&) ability to think

(B) the ability to think and falk about
language

(C)  ability to talk about language

(D) ability to writing from other visual
rnarks

Vhat Is invented speliing 7

(&) intarferas with reading

~ development

g} the development of conventional
speliing

{C) increases children’s fluency
(D) should notbe supported by parems

High-contaxt cutturas

(&) People make a big deal out of
private space

(B} Lawyers are less mportant

(&) Competitive bidding is less
mpeortant

(DM Al of the above
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144, Consarvatism, inteliectual autonomy 147, Who said that “Schools are shaped
' ; : By cultural practices and values ang

affective autonomy, hierarchy, reflext the norms of the society for

mastery, egalltarian commitment and which they have been developed 7
* harmmony values ara devesloped by (A} Hansan (B) Peterson
(A} Schwartz {C) Hollins (D)  Fraiberg
{B) Robert 148, Which of the following assumptions
(C} Broune _ are identified by Finnan 7
(D} Mone of the above : I} Aséumpﬂnn akoul leadership and
' decision making.
145. Elements of cullure are : i) Assumptions about adult roles and
i Law . responsibilitias,
i An ) ~Assumption about best practices
and structures for educating
iiif) Language : studants,
v} Tradition lv} Assumption about the valua of
(A} 0, Il and jii change.
(B) i, il and iv {AY i, I and jii
(CY i, ivand | (B) 1, ii, i and v
(©) L il, lii and iv Q) i, i and v
(DY Onlyi
146. Which one of the following is best _
. ot students” what the Finnan want to
arwvironment ? explain 7

#) Living standard and economic (A) It concemed with the expettations

development of adult for studants
(B} Heroes, myths, values, attitudes {B) It concerned with the adult's
Yo and symbols democratic involvement and
! : {C) Nationalism and community shared decision making
Eh i e membership (C} It concerned that adults have
e strength and dagire to take the

(D} Af of the above responsibifity

(D] None of the above
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150.  The following assumptions of teachars
regarding classroom constitutiona)
IssUSs are identifled by whom 7

1) Itconcerned with the axpectations
of adult for studants,

2] Children cannot participata
constructively in the develapment
of a classroom constitution.

3} Children wartand expect the teachar
fo determine the nilas of the Garme,

4) Children are not nterested In
constitutional issues,

5) Childran should be governed by what
ateacherthinks is right or wrong, but
ateacher should not be govemead by
what childran thirk is right OF Wrong.

6] The athics of adults ara obviously
different from and superior to the
ethics of childran.

(A] Hanson {8) Peterson
(C) Holiins {0} Sarason

151, Which of the following norms of school
cultura facilitated change involved
leacher knowledge and qualifies 7
(4]  High expactation. expaimentation,
cuflegiality, appreciation,
involvement in decigion making
and caring

(B} Experimentation, tangible support,
referring to a knowledge basa,
collegiality, high expectation and
trust and confidence

(C)  Appreciation, protection of what's
important, high expectations,
decision making, caring and
humour and trust and confidence

(D} Appreciation, protection of what
are impontant, high expectations,
experimeantation, tangible BUpport,
referming to a knowledge base

A -34-

VR TR A

152. Hargreaves sums ug the literatura on

133.

-
failed reforms. He remarks ::}r’
educational shange falters or idils
because o

{A) the changs s pooily
conceplualized or not clearly
demonstrated. I is chyvious who
will benefit and how. What the
change will achieve for students is
not spellad out

(B} the change is too broad and
ambitious so that teachers have io
WOrk on too many fronts, or it |3 too
limfted and specific so that litte real
change occurs at all

fC) thaehan ge is too fast for peopla to
cope with, or ioo slow so that they
become impatient or bersd and
Move on to something else

{0} all of the abave

Distingtion between autonomoys

merality and hateronomous morahity

[A)  Autonomous moral thinkers focys
on the rewards moral behavior wil
Bring

{B) Autoncmous moral thinkers focus
on the way & specific behavior
makes them fasl

(G} Autonomaus moral thinkers focus
on the intentions of someons who
breaks a ruis

D) Autonomous moral thinkars foey
on the conssquences of behavio
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154. Piagst 157. A key concept in understanding moral

A) The social understanding of

* aytonomous children comes about
through biclogical maturation

(B} The social undarstanding of
autonomous children comes about
through the mutual give-and-take
of peer relations

(G} The social understanding of
autonamous childran comes about
through parental modeliing

() The social understanding of
sutonomous children comeas about
through what they leam in thalt
educational sattings

Universal ethical principles means

(A} Tha greatest degree of
Internalization of moral standards
is to be found in a stage of moral
devalopment

{8) The greatest degree of
internalization of conventional
gtandards is to be found in a stage
of moral development

(C) The greatest degree of
internalization of post conventional
standards is to be found |n a stage
of moral devslopmeant

(O) The greatest daegree of
internaiization of reasoning
standards is to be found in a stage
of moral development

Moral devalopment In diverse

cultures ansund the world (Kohiberg's

thaory) has revaaled

{A) Mo unlvarsal support forihis theory

(B) Conflicting results in 1erms of the
theary’s universality

(C) Support for the universality of tha
fivst four stages

(Dy Mone of thess

development is internalization
(A} Kohlbarg

{B) Sipmund Freud

(G} Martin Hoffman

(D3 Nona of the above

By parents promote
nigher levels of moral reasoning in
their children.

{(A)  telling their children how te act

{B) encouraging conversation about
value-laden issues

(C) ‘talking about best things
(D) all of the above

Criticism of Kohlberg's theory

(A) It places too much amphasis on
moral thought and tog little
emphasis on moral bahaviour

{B) Kohlberg's storles are exirernaly 1
difficult to score

{C} It did not fully consider culure of
gander variables

(D) Al of the ahove

Who criticised the Kohlberg's theory
neglecting the importance of
interpersonal relationship in mosal
davelopmant 7

(&) Sigmund Freud
{B) Martin Hoffman
{C} Femed

() Carol Gilligan

Social raasoning focusas on thoughts
about social consensus, MOral
rsasoning emphasize on

(&) Sociely

(B} Ethical issuas

() Morality

(D) Social cognitive
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162.

wWhich of the following theory
distinguishes between moral
competence and moral performance 7
(A} Social cognitive

{B} * Morality

(C) Psychosocial

(D) Mone of the above

Albert Bandura

{8} The key lo pasitive moral
devaelopment is the fear of
punishment

The koy to positive moral
developmant is good instruction
The key !o positive maoral
development 15 self regulation
The key to positivea moral
development is abstract reasoning

(B}
(C)
{0

Altruism

(A) Forgive someong

(8) He'lping someone without self
interegt

(C) Releazes the persan

bahavioural retalation

Mona of the above

from

L)

Pre-arming is

(A) A strategy parents use to help thelr
adolescents deal with values
outside the home that confllet with
parental values. This strategy
involves anticipating conflicting
values and preparing the
adolascent to deal with them

A strategy parenis use to promacie
maral development In thsir
adolescents through reascn and
axplanation of consequences for
cihars based on the adolescent's
actions

Teaching students a basic maral
literacy o prevent them from
engaging in immoral behavior and
doing harm to themselves

Mone of the above

{8

{C)

(D)

16E.

167.

1L B T
Why Gilligan has critlclzed
Kehlberg's theory aof meral

development ?

(A} Because it does notinclude a role
for reasoning about relationships
and concern for others

Because it does not recognize
higher-level moral reasoning in
cartain cultural groups

Beocause it places too much
ermphasis on moral thought and
not enough emphasis on moral
behayiour

(D} All ¢f the above

(B}

(C}

Gestura iz definad as

(A} Motion of the body, head arlimbs,
agpecially a movament or action
of the hand or face

Motion of the body especially a
movement or action of the hand or
face

otion of the body, head or limbs
Motion of the body, head
especially. 2 movemant or action
of the hand or face

(B}

{Ch
(0}

Language ls found among all human

groups-even those possessing the

simpiest culture trait

(4) Language davelopment

(B} The language of primitive people

(O} Mon vocal Gesturg in human
communication

{D) None of the above
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168,

170

171,

The development of human speech

falls into several natural stages

dependent on physical maturlty and

personal — social stimulation. Theaa_'

stages are

(A} The screaming o Pre-linguistic
stage

(B)  Jabble stage and imitation of speach

{C] Acquirement of irue spaech by
association of sound and situation

(D) Al of tha above

Tre gevemance and the one force of

majesty and imelligenca obaying the

call of pity, hunger, pain, ¢old, dark—

MAMA, MAMA, MAMA, MAMA |s the

sxample of

[A) The screaming or Pre-linguistic
stage

(B} Babble stage

(Cy Acquirement of true speech by
assoociation of sound and sluation

(D} Imitation of speech

By a Mttle over nine monihs the babble
had changed in character, It is softar,
leag distinct, and more fike spaach. She
had developed a form of mimicry that
often passes for spesch. It ks called
{Ay Echolakia

(B8) Condiiioned response

{C) Imitation stage of speech

(DY Parrot slage

172,

173.

174.

175.

Sehwesinger i
(A) Lika similar studies; teveals a
growing interest in statistical
~analyses of moral knowisdge and
moral c:mdwf:t :

(B} The development of vocabulary
significant as a measura of social
participation .

(C} Speech remains a reveater of
parsonality

(DY The basic or most fundamental
spasch |&vel ia the voice

A hybrid model of lafguage

devalopment called
(A} ECM {B) ECT
[C) SPP () ART

Two possibilities were introduced by -
the social Interactionists in the form
of imitation and corraction calied

(A) MNegative evidence

(B) Positive evidence
{C) Constant evidence

(DY None of the above

ECM smbeds both the pragmatic and
cognitive perspeciives In &

sdevelopmental theory of
" {A) Soclal acquisition -

{B) Language acquistion - o

{C) Divearsity
(D} Ethics
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176.  Standards of effective Pedagogy am

1} Joint Productive Actlvity.,

i) Language Development and
Contextuallzation.
Challenging activities
Instructional Convereation,
i, i and il {BY il and i
Only | (D) Al of the above

iii} and

LAY
{C)

1 177, Instructional Convarsation means

- (A} Developing language across
- curniculum
Taaching threugh converzation
Teaching complex thinking

Connecting school to students'
livas

(B)
(S
(L}

178, What are the attributes of a good

teadar 7

(A} Have a sense of mission

(B] Charnsmatic

{C) Able to influence people to work
tagether for cormmon causs

(D) All of the aboave

178, isgefling things dona through
balanced involvemant of pacpla,

{A) Lsadership

(B) Management

{C} BothAandB

(D) MNaone of the above

180,

The way o actuire the necessary skills
and compstencies may include

) Self leaming programmes

(B} Academic course

Mentaring
ralaticnship
(D) Al of the abaove

{C) and  coaching

181.

R

182,

183,

An opportunity to mest othar
managers at ragular iftervals, share
expariences, challenges and
solutions, build a common
understanding of processas, and o
support sach other

(A} Self leaming programrmes

(B) Leaming cycie
(C} Mentoring
rlationship
Peer to peer isaming

and  coaching

Managers from within and outside
your health centre with a common
Interest in understanding and
impraving their situation

{A) Reflectlon session

(B) Matwork

{C} Leaming group

(I}  Mone of the above

Secondments, attachmants,
shadowing/observation and study
tolrs provide

A} Expiore options when managers

are faced with difficult situations

(B} Practical lsaming and sxamples of
how others handle situstions you

will likely tace

Discuss Issues and help devefop
or iIMprove management systams

(0] MNonsg of the abave
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184,

185.

188,

Reflaction sessions

{A) Managers from within and outzice
your haalth centre with a common
interest in understanding and
impmuirag their situation

Bl Managers and their teams set
aside a regular time to review their
work, idenfify areas that neead
improvemeant, and ways to
improve the service

(C} Leaming cycles/groups-groups of
team members who maet regulary
to discuss issues and help

develop of improve managemert
Gystems

{) Al of the ahove

Pesar learmning techniquas include
) Network
i) Leaming cycie
iii} Raflaction session
W) Leaming course
{AY i, i and i (B) ii and iii
(C} Onbyi (0 All of the above

Which of the following statements is
true about assessment and
avaluation ?

(A4} Tan to 30 percent of a teachers
time la spent on assessment and
evatuation

(B} Standardized tests are used to
diagnose and svaluate student
academic progress

(C) Classroom  teachsrs ars
responsible for developing and
administering standardizad lests

(D All of tha above

187.

188,

184.

184,

A 0
A testis said to ba valid when it
(A) iz fair and free from teacher bias
{Bf measures what it claims to

MEeEAsLfa

{C} produces consistenl rasults, over
Erme

{0 has safeguards against cullural
hias

Which of the following stetemants

saems o be supported by research

on the effects of grades an older
students ?

{Ay Studants perform better under
passfail systems than they do
undsr graded systems

(B} Students' performance is not
affecied by the grading sy=tem

{&) Students perform better under
graded systems than they do
urder passifail systems

(D)  Nona of the above

Parcantile rank means

{A} the actual score received on a test

(B} the proportion of students who
recaived passing scaores

()} the percentage corract on a test

{D} the proporion of students who
recetived the same ar lower raw
SCOrs

Which one of the following is NOT a

major purpose lor testing within

Individual classrocms 7

(A) To diagnose students' prior
knowledgs

{8y To provide commective feedback 1o
sludents

(C} Tomake judgments about human
Intelligence

(D1 Tomake judgments about student
achisvament
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181,

192,

194.

_ __ 3 a davice for helping
teachers to specify how much test
space to denote to various topics.
{A) Test print

(B) Tost blue print

(C} Biue printer

(D) MNone of the abovs

Studants in & fifth-grade classroom in
Manhattan, Kansas, are askad to
collect various arifacts of thair work
and pui the work In a notebook to
demonsirate what they can do for their
teacner and their parents. What s this
an exampie of 7

(A) Essay assessment
(B} Authentic assessment
(S} Porifolio assessmem

(L Performance assesament

Summative evaluation is defined as
{A) The process of evaluating a
program’s effectivenass or the
worth of studsnt performance aftar
instruction

The process of damonstration to
the studants, how to perform

The process of teaching in an
sffecthve way

Mone of the above

(B}
(G}
(L

In ganeral, criterion-referenced tasts
arg most appropriate for which of the
foflowing purpossis) ?
(A} Comparing student achisvemnant
In one school with those nationally
(B) Helping ieachers to know whather
their particular objectives have
oeen med
Helping to determine what
students should do after high
school

Both B and C

(c

(D}

185,

1865,

197

188,

184.

2040,

it e

e

A selected response question
redquiras the student to

{A) Construct the correct answer

{8) Construct the corract answar from
saveral possibilitios

Hacogniza the correct answear
Explain the correct answer

{C)
(D)

The first step of measurement is
(A) Declsion of what 1o measure
{B) Development of the tost

(G}  Administering the test

(D) Nene

Which one of the following tool(s) iz
used frequently in summative
avaluation 7

(A) Teacher observation

{B) Test

(&) Assignment

(03 Al of the above

Kuder Richardson method is used to
estimate

(A} Validity (B} Raliability
(€) Usability (D) Objectivity

Diversity : to give variety ; to make
divarsa,

: state or quality of
being or fair ; falmess in dealing.

{A) Eguality

{B} Equity

(G} Inclysivensss

(D} MNone of the above

should ba carafully
designad fo prevent inaquity.

(A) Meazurement strategies
{B) Assessment slrategios
(C) Opporunities

{0} Al of the above
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SRR fe s

AR TR

IMPORTANT INSTRUCTIONS TO CANDIDATES

Iretaa Y & Tore weeryel sEw

This hookial ¢ontafne 48 pages

12. Plasse check all the pages of the Bookiet

T3,

T4,

16.

17.

18.

caratuliy, In case of any defect, plaase ask
the Invigilater for raplacement of the Booklat.
Directions ;| Each guestion or incompleto
statement (2 followed by four altermative
supoested answars ar complationg, In sack
CESE, you are required to select the ana thal
cerractly answers the queston or Lampletes
the statement and biacken (@) appropriale
cirgle A, B, C or D by Blue / Black Ball-Paint
Pen agalrst the guestion concermesd in the
Answar-Sheat. {Far V.H. eandldatas
corregponding circle will be blackaned
by 1he scribe)

Mark your answer fy shading the appropriaia
circle againel sach question. The circla ehould
ke shadad complataly withost =g any space,
The comrect method of shading is givan below,

prireg Marhoa [\reorg sated Tmng Makad | Somct Watnon)
meooiteco|ceoo|ons

The Candidate must mark histher responza
after careful consideration.

There l& only one corect answer o agoh
questian. You should blacken (@) the sircla
of the approprate eclumn, viz., & B, C ar D,
il you blacken (@) more ™han one clicls
againz any one quealion, the answer will be
treated as wrong. If you wish o cancel any
angwer, you should comppletaly erage that bisck
mark in the circle in the Angwer-shest, and
thitt blacken the circle of rewised responaa.

A maching will read the sodad information
in the OMR Answer-Shaset. In case the
Inlermatien is Incomplete/diffarent from the
informatian given In the application form, e
candidaiere of such candidate will ba Iradtad
as cancallgd,

Uae tha space for rough werk given In the
Queslion Booklet only and net on the Answer
Shest,

You are NOT required bo mark your answers
In this Booklet. All answers must be
indicated In the Answer-Shaat anly,

11
12,

YT d 48 ek |

T R et o o s it g | R
=0 A B, T e wrat R |

13 ey s o R g e s am

14,

15,

16.

17.

18,

ST ST ST o e T | e

B AT e v o g B e e T

& 2T e w9 = ol e S uiie

T T TR W A, B, W 0w fea

HIET FA-yiee 9 # w0 (@) T d |

(gMreariiny aedrram 3 fovg T e

ferfmn ¥m =en fiar )

TR T = AT 2 g o e e et
e B | g T o v Y Rrmife 5 |
Pl = w1 et e A Py ¥ |

D'EDD-_CEGD @00 @00

sl w1 W 3w o T R A
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T T T S ww W W R | e
i Fem i A, B, C T D% demen
T A F (W) TR | w0 e e we
A T A TE Ee e T () W
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T T ST 1 3009 3 -] o T e
T R e e & R d sl es v
3 T TTATET T e RS |
1.1, 0, TR v T g g S o
i marl |t e et R e oy
o T  fir &, o i e o apeff
T wreht =t |
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Ga through instructions glven in Page No. 1 (Facing Page)
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